T HEANRENLSRIERER TS E 0 A

s R H 44K P AL

1 Fr B EEE L T 55 FHE A &R 2 RIE R AR
2 NF KRR RS FHE A &R 2 RIE R AR
3 BEHRH FHE A &R 2 RE R AR
4 i 7% 5% A FIHE AT &R 2 RIE R AR
5 T FHE AT &R 2 RIE R AR
6 W2 R R AL X 5 FIHE A &R 2 RIE R AR
7 BEBIRTHEFLEF FHE AT &R 2 REE R AR
8 BB %R T3 TIE4 5% FHE A &R 2 RIE R AR
9 % o R IE & FHE A &R 2 RIE R AR
10 Bk EEE 5 FHE A &R 2 RE R AR
11 ERNE- 2" FIHE AT &R 2 RIE R AR
12 2RI 2 78 AL FHE AT &R 2 RIE R AR
13 5 o K AR FHE AT &R 2 RIE R AR
14 BRARIE F FHE A &R 2 RIE R AR




BEAF -

T H 2SR A PFER

(20224 %)
L 48 Pl 8 B 5 2
FEHT 210~ LA A AR 2 (R SR L0001~ FHEL Ay VRN £ (R A4
ERIFS | S EB | ST | | ik o
LR 15 15 15 10 100. 00% 10. 00
s Sl AERIES 15 15 15 -
e 0 0 0 -
St 4 0 0 0 -
. LR b5 AL
fis
o
# L B B S SOONAET 3551 S
b
— gk | g =Yt i | et | i | e | RS
WG | 5 A
TR bR | 0 ¥ 415 % i A S i B 50
P e dy | BORSRR 0
(5043)
T 0
4 —
0 Wkt 0
=) iy 2 X‘E jk N S, =
e e e S || g
G o
MosthE | gep 0
(3090) [ A 0
bibr
TR -
i b
iRt | |,
vl Kt IO >90f k| 100 10 10
B 100 100. 00




BEAF -

T H 2SR A PFER

(20224 %)
T H 2 FK NFHRRA LR
EX-Sn 210~ P Bk A 77 ¥ BEORTHE 2 62 ) S AR R1O0OL T P EL A 77 VR A 2 (it ) A 2
CERREA | AT | TR | | iR B
FERE LR 5 5 5 10 100. 00% 10. 00
5 H % 4 B -
i) Horb. AEMBURHK 5 5 5
AR 4 0 0 0 -
Hofh % 4 0 0 0 -
" U E bR S5 R L
i
g
‘ o e N -
g L —— ﬁﬁ?k?%%ﬂ%%zﬁ?ﬁﬁﬁ%ﬁoﬁﬂﬁﬁ
b
gk | stk = ki EREERRE | s | A | g ﬁﬁ%gggﬁﬁ
= ; e e A NFERRZK | ik T
FREIRIS | NFRR IR RE A s 1‘%1%%’5}%% b H 50 50
P e dy | BORSRR 0
(504%)
CRN eV 0
5 ) .
& AR bR 0
ol e b Bl BV Y
Zpesas
MosthE | gep 0
(3090) [ A 0
ETeLon
T ;
W4 b
e | W se .
o | e s s =907 4| 100 10 10
B 100 100. 00




BEAF -

T H 2SR A PFER

(20224 %)
5 H 4K AT
L 210~ BB A YRR £ (5 SRR P10001- BB F1 AT 2 R R A4
EymE | e | aenir | ol | s 4
FERE LR 3 3 3 10 100. 00% 10. 00
%iﬁ? b, AEMEARK 3 ] 3 -
o 0 0 0 -
Hh 4 0 0 0 -
" Bl b bR AL
i
ZEN o ” SE R AT LG N R kS S , & i
q SR S B 250 N B AR T 9T ”WT%ﬂquﬁﬁﬁﬁfiﬂﬁiﬁ A
b
=, yA
— gk | g =Yt i | et | i | e | RS
i e N R IE | R
B TRAR |4kS U E T RGO BT pa 50 50
P e dy | BORSRR 0
(504%)
GRS 0
% —
W JRASFE AR 0
& T ST | 34 R
it e P e St | I g0 | a0
e
MosthE | gep 0
(3090) [ A 0
fabi
TSR .
gk b
SRR | R e
2 (1049) b7 R S5 Xt G = =907/ 41tk 100 10 10
B 100 100. 00




BEAF -

T H 2SR A PFER

(20224 %)
T 4 Fk T
TR 210~ B 5L\ A 2 (R SR R10001-7 [H1EL A 7 VAL 2 (5 7y A
EITE | AETE | ambuT | | Bz S
FERE LR 5 5 5 10 100. 00% 10. 00
%iﬁ? b, AEMEARK 5 5 5 -
ARG A 0 0 0 .
ol 0 0 0 .
. U A 47 SR L
R
g
g 5 4 EL Sl B o7 1 8 S A LI B TR Y, kB AT
by
s yA
— gk | g =Yt i | et | i | e | RS
o i N IRV | 55 i TR
IR FEFR |70 b ) R & B % IR b H 50 50
P e dy | BORSRR 0
B04) | .
R e 0
5 ) B
W JRASFE AR 0
» —— S 2 R | S o TS
el e B P 2L ot | 50 30
R
MosthE | gep 0
(307) [ rEmas 0
1hT
TR )
ni kR
e | e i e
2 (1049) b7 R G5 5o G B =907/ 41tk 100 10 10
B 100 100. 00




BEAF -

T H 2SR A PFER

(20224 %)
T 4 Fk WA TAE
LI 010~ 1 5L A7 VIR AL 2 (R SR R10001-7 [H1EL A 7 VAL 2 (5 7y A
T | ST | ST | Al | T S
FERER G R 5 5 5 10 100. 00% 10. 00
%iﬁ? Foh AAEER K 5 5 5 -
ARG A 0 0 0 .
ol 0 0 0 .
. U A 47 SR L
B
g
£ , \ \ )
q W 2 T A E 3 TP SR TR TERTFIE , 35BN H AT .
i
s yA
— gk | g =Yt i | et | i | e | RS
I S SEIE TARM | 15 IR
R [ T s f%ﬁ%ETiéﬁﬁﬂh 50 50
P e dy | BORSRR 0
(5043)
CRN eV 0
2 —
W JRASFE AR 0
x
B & e KSEEE AR | ik pl Wi 5
W jzf‘:’ﬁfi: w3 28 A & RS A & JE [ o H 30 30
R
MosthE | gep 0
(3090) [ A 0
sbr
THYE )
ndh b
gio}%;? W‘if&' AR B =907 4tk | 100 10 10
B 100 100. 00




BEAF -

IH S E vREE
(20224 %)
W 48k % R R R
SRS 210~ B AJI SEURIAL 2 (R SEE A0 L0001~ Bk Ay ST 2 (RIS A28
EYRAL | R EROH | R A | BT o
LR 5 5 5 10 100. 00% 10. 00
S 4 . B
AR Sk, ALERE A 5 5 5
JRPTT TS 0 0 0 -
S 0 0 0 -
" UM b7 SRR SR
i
" RBEPERIR 2 I B (R R TR T3 T PRSI Z IS IR e LIFIERITR a3 7
b
— gk | g =Yt i | et | i | e | RS
FREHERT [902 6 R TIPS, kdaln HIRITHR) 50 | a0
P e dy | BORSRR 0
(5043)
T 0
2 —
& Wk AR 0
o . o o 4k o -
el FEEME | s o o e o e | | g
T
MosthE | gep 0
(3090) [ A 0
b
T -
15
i A | o
TRIEIT | WREERR |y s Z90TIAHL| 100 10 10
B4y 100 100. 00




BEAF -

T H 2SR A PFER

(20224F %)
i F 47 LA IRT W I 2 5
EEWI 210-FH 1L A S VIR 2 (R SO 10001 A VAT 2 R A2
YT | SR | AT | M | T 5
TEPE B R - 1.8 1.8 1.8 10 100. 00% 10. 00
s S AR TR 1.8 L8 8 -
AR 0 0 0 -
Sl 4 0 0 0 -
. B A Sl sE e L
i
#
n
q SR TR R BT 2R SER TARRUS T RAT RO AR
b
7 4
— gk | g =Yt i | et | i | e | RS
T | BN TR g | RIER g 30
e L . TSRl | R BUNTR
P | IR | B SRR 1 % 0 LA bt |2 20
G N —
ST 0
s —
W AT 0
A
ol B2 s e ounmecnmptr | e SRR g0 g
e
MosthE | gep 0
(3090) [ A 0
b
TR .
i
gio}%? W‘if&' S 250 4 =907 40| 100 10 10
By 100 100. 00




BEAF -

W H @i | R
(20224 %)
55 447 BT TR %
LA 21035 B 5L A BRI £ (R SRR 100017 B B Ay B AT 2 (R0 s Ak 24
IR | AT | AT | M | R 5
CEE R A R 1.2 1.2 1.2 10 100. 00% 10. 00
s Soh: BRI 12 12 12 -
LR S 0 0 0 -
Sl % 0 0 0 -
" B H b S 5 A
i
g
& SR T ET R SR T T RLFRCR .
b
7 4
— gk | g =Yt i | et | i | e | RS
AR R Ak g | RIER g 30
ek | R | B SR T L 20
(5043)
M yemast 0
s —
W AT bR 0
b R s e et | ome [SRIHR 30
P
dostts | i 0
(3090) [ A o
ik
TR )
b
il RVl T PR P TR Sg0FisrtL| 100 10 10
JSUix 100 100. 00




BEAF -

WH X W= PR
(20224 %)
51 F 4 %k B 2
LT 210~ 1 5L A J1 BRI L 2 (R SRR R10001-75 BB A 7 VIR 2 (0 5 A 2
ERIWEOE | ST | TR | | TR 5
FERE LR 17 17 17 10 100. 00% 10. 00
%iﬁ? b, AEMEARK 17 17 17 -
ARG 4 0 0 0 .
i 4 0 0 0 .
" W b S e
B
&
% \ 3
g (R R 52 (RHET RG2S E0 6 5 . 5T UM H A
I
s yA
— gk | g =Yt i | et | i | e | RS
AT | SR g SRRAR | ERIIR | 5 50
I b
P e dy | BORSRR 0
(504%)
CRN eV 0
% —
W JRASFE AR 0
& A T B | o o -
el P2 | gyt s X R R Pt Ll IR I
G o
MosthE | gep 0
(3090) [ A 0
tatE
TR .
WL
VR | R e
2 (1049) b7 R G5 5o G B =907/ 41tk 100 10 10
B 100 100. 00




BEAF -

WH X W= PR
(20224 %)
i H 4 7% L B 4%
L] 210~ I EL A A VS R £ (8 ) SEHEAAL D10001-7 IFLEL A VR £ (i ) A
ERTEN | AETr | Aesuri| A | BurE 5
FERER G R 3 3 3 10 100. 00% 10. 00
%iﬁ? Foh AAEER K 3 ] 3 -
[N 0 0 0 .
HAh e 0 0 0 .
" B A SebR e B
B
&
E et Mt T B, A BB B .
b
s yA
gk | stk = ki EREERRE | s | A | g ﬁﬁﬁgggﬁﬁ
R [ R ﬁﬁE%% 50 50
P e dy | BORSRR 0
(504y) B
B ST 0
45 —
W JRASFE AR 0
. — TAE TR | 2k e
i PR |y 4 AR ettt | g0 | a0
G T
MosthE | gep 0
(3090) [ A 0
ta ki
TR .
o
R | R o
2 (1049) b7 R G5 5o G B =90 FH 4tk 100 10 10
B 100 100. 00




BEAF -

T H 2SR A PFER

(20224 %)
51 F 4 %k e
LT 210~ B B A VAR 2 (R R SRR R10001-75 BB A 7 VIR 2 (0 5 A 2
ERIWEOE | ST | TR | | TR 5
FERE LR 5 5 5 10 100. 00% 10. 00
%iﬁ? Foh AAEER K 5 5 5 -
ARG 4 0 0 0 .
i 4 0 0 0 .
" W b S e
B
&
%
g o B VA B AT R = LR VIR T BT L
I
s yA
— gk | g =Yt i | et | i | e | RS
AR |15 L b iEﬁE%% 50 50
P e dy | BORSRR 0
(504y) B
B R 0
5 —
W JRASFE AR 0
. — B S B | e
el PR | s e i R WA || 80 30
e T
MosthE | gep 0
(3090) [ A 0
tatE
TR .
WL
gio}%;? W‘if?a AR B =907 4tk | 100 10 10
B 100 100. 00




BEAF -

T H S S E vFR
(20224 %)
T F 447K SRS B
T 210770 B Ay PR 2 (R SR 100017 HTEL Ay VR EE 2 (R A4
ERFIH | AEFOH | AT | M | SR o
LB B 8 8 7.8 10 97. 50% 9.75
s Sk, AEMERH 8 g 7.8 -
AL S 0 0 0 -
el 0 0 0 -
" B F S5 A
fiz
o
ik ‘ . ‘ e ]
g H BB E (R T ¥ £ 2 AU B A0 HUM AR
b
7 4
— gk | g =Yt i | et | i | e | RS
I o o
BRI | 005 £ pR o onss | SRIHE g | g
o i | PR [ 2t L s I 20
(5043)
P 0
4 —
W AT 0
A
g O 2 25 ik R TR TS
il HERE |3y ey st ST R T
R
MosthE | gep 0
(3090) [ A 0
bz
TR .
e
gio}%;? W‘if&' AR =90F k| 100 10 10
B4y 100 99. 75




BEAF -

T H S S E vFR
(20224 %)
L F 44 PENKF A
EEH] 210~ F1EL Ay FERAIR 22 R SR 1000175 FEL Ay VIR 2 (R A1
ERBA | ST | S| M | B o
LB B 8 8 7.73 10 96. 63% 9. 66
s Sk, AEMERH g g 7.73 -
e 0 0 0 -
TS 0 0 0 -
" BB 7 S5 AL
iz
I \ )
q [R5 R R B T SRR, BT T A7
b
7 4
— gk | g =Yt i | et | i | e | RS
R | A% R g | RIER g 30
o i | PR [t 2t L s I 20
(5043)
P 0
5 —
W AT 0
o . o E AR | e -
i e P e L T || g
G o
MosthE | gep 0
(3090) [ A 0
o
TR .
15 b
i A | R A .
2 (1049) b7 JR 55 %k Gm =90H 41tk 100 10 10
B4y 100 99. 66




BEAF -

T H 2SR A PFER

(20224F %)
i 47 R
EEH] 210~ F5H B A AR 2 (R ST P10001—4 BHEL Ay VERATE 2 Rl A28
ERBA | ST | S| M | B o
TEPE B R - 4 4 4 10 100. 00% 10. 00
s S AR TR 1 4 4 -
AR 0 0 0 -
Sl e 0 0 0 -
" LT b L L
iz
g) i ;_(\VH—' R HF M) ] ﬁ/ 7D
i P —— S SRRV A BDRI B R i) T U A
b
7 4
— gk | g =Yt i | et | i | e | RS
et | R | R
BT RCHR AR | BB VT 6 10 S i B T 1 pa 50 50
e s g | BURTERR 0
(507r) | _
aarrr 0
45 —
W AT bR 0
5 T XTIV o | 2 e SR
el e B e L R e sl U Y
e
MosthE | gep 0
(3090) [ A 0
b
TR .
L b
IR | o
2 (1049) b7 JR 55 %k Gm =90 H 7tk 100 10 10
By 100 100. 00




